Question Paper Title : FG_04

Date of Exam : 10-06-2019 02:30 PM

Reference 1D:(21702)

Answer:

Reference 1D:(22591)

Answer:

Reference 1D:(21221)

WRA=1,B=2C=3,...Z=26, R Aid Ub! DI YT SRR 3T3?

A{J+0+Y}={T+R+Y)}
B{J+0+Y}<{T+R+Y)}
C{+0+Y}>{T+R+Y}

D{T+R+Y}={J+A+C+K}

BU+0+Y}<{T+R+Y}

SR $ 3R '+ 30T @ 318 ', TR Wielidua! gafd AT Tafa ot 38 2

A25@22@35$72$102@ 83 $45$ 27
B48@17@25$32@ 126$ 104 $44 $ 71
C19$12@15$42$36 @ 103$45$ 107

DA44$67T@25@32@26$ 104 @ 44 @ 13

C19%12@ 15$42%$36 @ 103 $45$ 107

SR TOMATO BT Jeg AOOMTT 38 A0 BOWEL BT WG EOBLW 3Ad, aR
ZIGZAG Bl Xt 3.

A.AGGIZZ
B.AIGGZZ

C.AZZIGG



D.AIZZGG

Answer: B.AIGGZZ

Reference 1D:(21248) SR OWL BT Ts NVK 3 HTfOT TABLE T Xst SZAKD 318 d, TR STATUE &l Xsq
3.

A.SRZSTD
B.ZSRTSD
C.RSZSTD

D.RSZTSD

Answer: C.RSZSTD

Reference 1D:(31421) refIle! BTl foiegT HeRIPTd ATg1?

A.3lgHaTTR
B.IAT
C.IgQR
D.FgIER

Answer: BT

Reference 1D:(24672) gTdd araaTd RepTHl ST YRUaRT gafd I1g eg fAasT.
e Wyf TueHaR 3Me AR SR ... IR THRY IR TS,

A.3MTH

B.3{ThIH
C.gefg



Answer: c.g&yg

Reference 1D:(29872) Pick the right antonym for the word:
barbaric

A.Tender
B.Cruel
C.Grim

D.Savage

Answer: A.Tender

Reference 1D:(29899) Pick the right antonym for the word: Worthwhile

A.Futile
B.Empty
C.Abortive

D.Precious

Answer: A.Futile

Reference 1D:(17876) X 1Y B 300% -t HIT 318 T Y BT X §1 % T8 3T8.



A.75
B.50
C.25

D.66.66

Answer: A.75

Reference 1D:(23910) Wit faegrdf e sRieR Siet sfiewr

A.gaul x 6
B.UTG x U™
C.UR x M

D. B IIA] x dshR

Answer: C.ZﬁT r&SIG]

Reference 1D:(29137) Pick the right meaning of the highlighted word in the sentence:
None of the servers wanted to wait on the captious woman who complained about
everything.
A.A person who is hard to please
B.A person who is undemanding and easy going

C.A charitable kind of person

D.A selfish kind of person

Answer: A.A person who is hard to please

Reference 1D:(34931) SR Hidh [ HINd 432567 § 523476 3118 , AR 876745 § Aidbidd HINT BT H?



A.977654
B.967754
C.975654

D.967654

Answer: D.967654

Reference 1D:(19219) T IHT TSI B3 SFHTAT J0T, T IR Weitade! 31 Hiorr?

ATTY ofiHd 3o,
B.IFIqYHTUl gHTEUL.

C.uRfYcH arge g,
D.SFd: 9 dicd gF 39U,

Answer: ATH fiva o,

Reference 1D:(28883) Supply the correct tense of the verb in the sentence: The children
who __ kites from him ten years ago __ now adults.

Answer: A.Bought.......... were

Reference 1D:(17368) 9.65+5.95+3.75-(2.75+3.5-4.75 + 0.5)



A.16.05
B.17.60
C.17.35

D.17.10

Answer: C.17.35

n N

Reference 1D:(31424) HERIPTA Wlciteueh! HIur foreglla &athes qaid SR 3g?

A G
B.TTSTRIaH

C.daR
D.3EHGTR

Answer: D.JgHGAR

Reference ID:(22565) Grefieiden! gafd dg™ uafg HIurdr 3MTg 2

A12+55-62+45+65-103 +42 + 57
B.18 +17-52 +35-56 + 104 - 44 - 37
C19+15-162+45+ 36+ 103 +42 + 17

D.38 + 107 - 52 -35-56 + 104 - 44 - 37

Answer: B.18 +17-52 +35-56 + 104 - 44 - 37



Reference 1D:(29110) Fill in the blanks using the right form of simple present or present

continuous tense: | __ money usually. | it today to take my daughter to the
doctor.
A.Do not borrow.......... am borrowing
B.Do not borrow.......... borrowed
C.Had not borrowed.......... borrowed
D.Have not borrowed.......... am borrowing
Answer: A.Do not borrow.......... am borrowing

Reference 1D:(32663) URATAIS 3 <rTeraraA G iR fAgerdt SR &l Sl

ARTFT
B.GduY™

C.IsYuref

D . TG 30T =TT HA

Answer: A.Tl'gtl?ﬁ

Reference 1D:(23937) Treiterte! faserlf Wrsard getd St e,

A THAT x fowHar
B.STdC x ©Tsd
C.hPdRIxPpd¥

D.37ddl x ATdSdl




Answer: B.vldlq x ‘aTsf_d

Reference 1D:(28121) Find the meaning of the highlighted word from the sentence: We are always trying
to improve the caliber of our schools.

A.Weakness
B.Competence
C.Inferiority

D.lneptness

Answer: B.Competence

Reference ID:(18711) Telidue! avg Srat e,

Ad et WIEA. - YUl YddIes

B.3{T%! Yeb ¥l UGTIC TIdl gIdl. — 3(YUl daHbIs
c.faar Agea IR gidl. — et adHHBTS

D forsd. — a1 adHH®IS

Answer: CﬁlﬂTﬁ'ﬁﬂﬂB’Qﬂ?‘&ﬁ?ﬁ — 3<ht aduIDTS

Reference ID:(25180) LRI T VSN Wit g el fave sheswr,
ATY + TR
B.AY; + JTRI

C. Y + IR



D.9Y + IR

Answer: D.dY + I

Reference 1D:(20713) RGO =44,FLY=86,BUG=60,qRJACK=__7

A.50
B.52
C.53

D.54

Answer: A.50

Reference 1D:(27005) Select the correct passive voice form of the sentence: The judge pronounced the
sentence.

A.Is the sentence being pronounced by the judge?
B.The judge is pronouncing the sentence
C.The sentence was pronounced by the judge

D.Sentencing was pronounced by the judge

Answer: C.The sentence was pronounced by the judge
Reference 1D:(25153) JgaRID Veg i@l o Iarsel ars axi wnefar ............
AT

B.S[HId ST



cgs

O

D HIab]
Answer: AT
Reference 1D:(27894) Pick the correct meaning of the highlighted idiom or phrase from the following:

The old couple was left high and dry by his children.

A.Unattended too
B.With utmost care
C.Being thoughtful in thought and action

D.Without any thought

Answer: A.Unattended too

Reference 1D:(18992) QTdTel YsaTal AN / JHN ThR 3.
gfbd

A%g

B.Tgegslfe
C. 3T

D.IgzY

Answer: B.H%EE@'%

Reference 1D:(31417) YRATET 04 acid HeHTaT glamidbard YT ... T Sfie@d S,



B. SR fdh-RUE!
C.®RIESd fHIRus!

D.JI WHR fbARUg!

Answer: C.®RITSA w

Reference 1D:(20205) X ° IR [GRIa A8 318, < 45 3iX Ioldidhe acsdl. AT dl 180 3= aa5al. A dl 45
321 Sldlds dosdl. Riac! dl Sldids 45 3R g&dl. AT dl BV fGRId die dHe
JYT 3Tg?

AR 04
B.af&ur gd
C.3WR ufgH
D.féror ufgH

Answer: B.Gf&Ur gd

Reference 1D:(24418) G| ATHRUMTAT ¥ Y[ea aradral uarg fHast,

A. 30T U1 fHesTe.

B.faRTeTel 38 goaT STe.
C.foH urguaid SireRifad el
D. AT T SR e T,

Answer: ATl ﬁﬁiﬂ fHeaTeT.



Reference 1D:(19246) "SI HTHIT T HTH SGaUI" &1 YT Welidtds! BT aIauaR 3118 o e,
A RIS Bl S0
B.IS! BTdTd AySUl
C RIS peu
D RIS 7T g0l

Answer: C XISt W@f

Reference ID:(32667) U1 soR g oI IS 3MTR.

A3 31f PR I
B.ANTIIS

C.fme

D.gT&x 3M1fOr 7R gaeft

Answer: A3 AT AdpIER d¢

Reference ID:(16860) R @ 318 'YK’ 31T § 3178 [UNHR’, R WIdid Gaiaite! ga=a1 shHibTE gatd
T BT 3TR?

A.24@5
B.1.5$4.25

C.29@4



D.3%$2.5

Answer: B.1.5%4.25

Reference 1D:(27359) Identify the figure of speech in the following sentence: This dress is perfect because
it fits like a glove.

A.Euphemism
B.Personification
C.Metaphor

D.Simile

Answer: D.Simile

Reference D:(20459) X I IR Jd [GRIeT IS TR Tl 45 3i=T STdIdhe dosdl. AT Al 90 3R IodIdhs obdl.
HIT Al 180 3T g5dl. T dl 45 3/ Ioldih s daddl. act dl STdtbs 45 3 gl
3T A HIUTAT fERISAT IS B IHT 35?2

ATfEH
B.aféfor

cgd

D.3™

Answer: AT

Reference 1D:(31423) HERIPTA gUT ShHIBTE HlegR RRER WAAUD! BTl fiegid 3Mg?

ATARI



B.IATRRY

c.qu
DRI
Answer: RIIRIED
Reference 1D:(29618) Pick the right meaning of the highlighted word in the sentence:

The boy thought his holiday was stupendous

A.Something very boring
B.Something of little importance
C.Something that is amazing

D.Something terrible

Answer: C.Something that is amazing
Reference ID:(17622) 39 =T 1/6 + 50 =T 60% =4I 200% + 0.25 x 60 =
A.83
B.81.5
C.83.5
D.80.75
Answer: B.81.5
Reference 1D:(19727) PRI RIR 3 S3d. T WU DT e gld?

AHHTAT



Answer:

Reference 1D:(27386)

Answer:

Reference ID:(16506)

Answer:

B.dYHTd

C.dlsc T d

D.XEA

C.dlsc T d

Identify the figure of speech in the following sentence: The alarm clock yells at me
every morning to get out of bed.

A.Apostrophe
B.Personification
C.Hyperbole

D.Euphemism

B.Personification

T ST faH1d, A1%, 31, -1, TaH 0T fRIS § G I UhAdidhs die
YA ATeY. S1 8T RIS Srdidhs gu=aT shHidhIaR 3MTg. U= ISR S¥atal
&r”a?ngr ST HUMTYEE 318, °1% 81 fhiorea ASRT 3R, Jieaud! HIvT Thr
R0 3HTea?

A3 ST AT
B.fthIST 31fUT faH1g
C.Ta 3f1for it
BRCERCRICIIGINg

A 3T 3T foAra



Reference ID:(16533) 90 =1 60% - 5/20 + 2.75 =

A.57
B.56.5
C.56.25

D.56.9

Answer: B.56.5

Reference 1D:(20994) HTfeTbare RepTHT SR HRT: 12, 23, 45, 56, _, 89, 111, 122, 144

A.81
B.79
C.78

D.80

Answer: C.78

Reference 1D:(18484) GTefieTUen! TRTR 3R Sl TN,

A STST ST ST 3T — GhHd Bkl TanT
B.3{TS HRTET GUlTae! — HebHeb HId T

C.Hdl O_1 Sdad — S{hHdb HId YANT

D.3{TS folell AeHeSd — 3fdhged HId TaNT

Answer: A ST HRATAATI T 3Tel — GhHB Hax] TN



Reference 1D:(31115)

Answer:

Reference 1D:(28629)

ARRISCIcier aAehrend avre g2ifaeren foregr @relerddr Somar 3mg?

A.Yc5
B.3NETG
C.SI&Td

GIIRED

B.3fATETe

Pick the right idiom which fits into the sentence: She
snake in the garden, and disappeared.

A.Was neck or nothing
B.Stood her ground
C.Was at sea

D.Took to her heels

when she saw the



Answer:

Reference 1D:(22819)

Answer:

Reference 1D:(18203)

Answer:

Reference ID:(25770)

D.Took to her heels

SR $ 3R '+ 3T @ 38 '—', TR Weiiailep! Jald el Yaid HIvrdr 318 ?

A55$11 @75$42@62@ 13$45$ 27
B.118$17@25$32@ 126 $ 104 @ 44 @ 37
C79$42$165$42%$36 @ 103 $45$ 17

D38@107@25@32@26%$104%$144 @7

A55$11@75$42@62@ 13$45$ 27

T4 GMIgT ARUIRR <ga § Yarad 3Tg. gl a1ald HIurdT S[AdR aTaRdl Tdl 38,

A. SR
B.YifcHA™

C. AR
BRSHIEIC|

C. IfR®

YRAKITS Ui grerdia wafarume YaeHrme! “ave urcy Saidron Taque daa”

(WGEEP) RIT0- &l T 3{eHef JIeitaudh! HIvT gia?

ASI. H1Yd eI
B.4. &9 pUH
C.SI. . T. TTur=A
D.S1. 1. Ty fawigH



Answer:

Reference 1D:(32658)

Answer:

Reference 1D:(20232)

Answer:

Reference ID:(16887)

A ST 914 ST

YR Ufgel "o ureh ..... 3 R 3fTe.

T HIUY AT IRIARE G4 [ 8 o 1T, arerd.
T dl SIAies goad! 3101 3 fos. =t arardl.

T dl Soldidbe gaddl SHTMoT 1 T 1. areal.

W @ Ioidihs dadd! 31oT 2 fob. A, arerdl.

T dl Iodihs gaddl 3T 4 o5, 1. arerdl.

T dl SIAis goad! 31T 1 oo 1. arerdl.

ol =T ERIURA favedl @R 3iTe?

A.4 fo =i,
B.5 fob .
C.4.5 &,
D.5. 5 fab Ht.

B.5 for .

16/20 + 0.5-5/40 =7

A.2.975



B.1.175

C.0.775
D.1.025
Answer: B.1.175
Reference 1D:(28148) Find the meaning of the highlighted word in the sentence: Are apps a fad or are

they here to stay?

A.Vogue
B.Standard
C.Tradition

D.Custom

Answer: A.Vogue

Reference 1D:(28856) Pick the right idiom which fits into the sentence: He when he saw his daughter
enter home after midnight.
A.Saw red
B.Burnt his fingers
C.Greased the palms of

D.Was a wet blanket

Answer: A.Saw red



Reference 1D:(21475) SRA=1,B=2,..M=13; 3TN =13,0=12, ... Z= 1, TR TTAd Jeb! HIUII
Jg1g SRISR 3R ?
A{D+0+G}>{R+E+D)}
B{D+ O+ G}={R +E + D}
C{D+0O0+G}<{R+E+D}

D{D+0+G}={B+U+G}

Answer: A{D+0O+G}>{R+E+D}

Reference 1D:(30888) Identify the figure of speech in the following sentence: The teacher asked the
children to run slowly on the playground.

A.Apostrophe
B.Simile
C.Oxymoron

D.Euphemism

Answer: C.Oxymoron

Reference ID:(25761) YR WfAUMER, 901 U0l 9 yedid TR&0r =1 YT 317G,

NGRS Gl
B ST il
C.qHad gt

D.3falRry fawg

Answer: C.ﬂﬂﬂ?ﬁ&?ﬁ



Reference 1D:(23683) '3 T Ysard fasgrdf 2req sfieswr.

AURIG

B.3{Y

D3

Answer: D.3{qol

Reference 1D:(30634) Convert the following active to passive voice: Did she do her duty?

A.Had her duty been done by her?
B.Was she done her duty?
C.Has her duty been done by her?

D.Was her duty done by her?

Answer: D.Was her duty done by her?
Reference ID:(23429) 'S T WG THATRT Weg 3fcsw.
AYY
B.dd

ORICK]



D.IH

Answer: Ay

Reference 1D:(18457) TIeld had dradid Ygad a1 gadT DIV 3oy SR JHUS 31872
qIcd HIeR AIgod el Jel TGy IR ST,

Afdar
B. 3101

C. RV
D.4gur

Answer: C.5%eUd

Reference 1D:(25767) WTefieite! HRATdId Ufge Sitaravur IRAIT &3 HIvra 31?2

A Seredt
B.IUC fhIeR
CHMY
D.faf’t

Answer: Dﬁ(’llilél

Reference 1D:(18230) 3R B B! YUK Garey,
Thp! T dSa! AT

&1 3N ldid g HIud?



A ST
B. I dfcereh

C. UG a®h

D.Fads]

Answer: B.aYdldddT

Reference ID:(31418) AR ST HUGTAT HIUT BRI 3H1?

B.8RIETG

C. SR
D TGS,

Answer: B.%GQI@IG

Reference ID:(25766) HeIg TRl 9 g HATIH RIUA heldd UPF WRECT I SIb1d HHIY S
Greliates! HIoTT AsaTHed / HERMIT USRI U 38?2

ATORTd
B.UfH §d
c.3fifsm

D. 3¢ d fAPIaR deag

Answer: c.3fifgam

Reference 1D:(28375) Find the meaning of the highlighted word in the sentence: Change from within will
take too long. Ergo change must come from outside.



A.Unsuitably
B.lrrespective
C.Hence

D.Without regard

Answer: C.Hence

Reference ID:(35158) TTel feoiedr Uamie! 3 Ux UM TR ST 1 fF 1R, SYorar = i o sfiewar?

A.Dr. No.1-4/1, Rasi nagar,
near duvvada colony,
Vedullanarava sabbavaram,
Visakhapatnam

PH 0170806907

B.Dr. No.1-4/1, Rasi nagar,
near duvvada colony,
Vedullanarava sabbavaram,
Visakhapatnam

PH 0170806907

C.Dr. No.1-4/1, Rasi nagairr,
near duvvada colony,
Vedullanarava sabbavaram,
Visakhapataam

PH 0170806907

D.Dr. No.1-4/1, Rasi nagar,
near duvvada colony,
Vedullanarava sabbavaram,
Visakhapatnam

PH 0170806907

Answer: C.Dr. No.1-4/1, Rasi nagar,
near duvvada colony,
Vedullanarava sabbavaram,
Visakhapataam
PH 0170806907



Reference 1D:(19954)

Answer:

Reference 1D:(32659)

Answer:

Reference 1D:(24445)

Answer:

TaId faemTaT St T0T arg SR ST U1 e r:
AT EHR SR Gelrat Mes! fRraeht. @ Qe df Yse Tl 3ile 3 e,

ATt SITd Sar-=it WumRT Furd! ards He
B UIS! 9l BR
C.TP! didl g ant

DA Sleddd $U fG¥d YUl W=l Sleida o fgad et

A BT STd SitaT-=it WIOTRT Fgurd! ards BN

TETAUD! HIVIT HRIHH 2 SHfaeiar 2014 TGS AT gar?

A TGS HRd ST

B.9IcT S=ei ot uersh
C.37cel U IS

D.2IF &aTel SUTETY UTHIUT b1RTed ST

A HRd ATI™

YT aTeTd RepTH ST WA gdid A1 Xse (e,
SRITAT WA Acdld 3P Albit I Yo ... faet.

A.3Tgfa
B.3Hfd
C.3{rara

D. &t
A.3TTgfd



Reference ID:(17114) Wit Jafd 18T gafg HIurr 3?2

A.350 I 90%
B.1700 dT 1/4
C.0.35 x 900

D.700 dT 2/5

Answer: B.1700 dT 1/4

Reference 1D:(24191) WU THRUM T S Xeq-olRa Sreel Ve el

A

B. BRI
C. Sregdl
D.Ucitaf

Answer: AR

Reference |1D:(17649) 44 47 1/8 + 44 =H1 25% + 0.40 x 140 =

A.74
B.74.5
C.71.75

D.72.5

Answer: D.72.5



Reference 1D:(32666) Jldte! HIMER JARTH T Tefbald 3g?

A 3TN

Answer: C.H@I

Reference ID:(17395) 8+95+12+225-(35+10-2.5+4)

A.16.2
B.16.1

C.A17.1

D.16.75

Answer: D.16.75

Reference 1D:(27640) Pick the correct meaning of the highlighted idiom or phrase from the following:
Veena finally brought around her father to see her
point of view

A.To persuade
B.To reveal clearly
C.To cause to happen

D.To demand something



Answer: A.To persuade

Reference 1D:(25762) YRATHT THUT U &1t o TSI cabaR) 3fasl _ Tad 3R,
A.15
B.18
C.22

D.30

Answer: C.22

Reference 1D:(29364) Pick the right meaning of the highlighted word in the sentence:
Even though the hose seemed pliable, Henry wasn'’t able to curve it around the
corner of the house.

A.Something which is easily flexible
B.Something inelastic
C.Something easily breakable

D.Something which is very trustworthy

Answer: A.Something which is easily flexible

Reference ID:(25765) TIfCTT g WU HIUTdT HIRTRIT T&fd 3?2

AJCTSH PR
B.&el HIR



C Hifcad ;R

~

D.XTHIY R

Answer: D.RTHYR IR

Reference 1D:(22237) WTefieiten! gafd HIST Uaia HIvrdr 38 2

A125-62-35+74+102-93 +45+ 37
B.48 +17 +25+32-126-104 +34 + 74
C19-12-45+42 + 36 - 103 + 45 + 207

D.144 -67-25+32-26+104 -44-13

Answer: A125-62-35+74+102-93 +45+ 37

Reference ID:(19500) Jeid 1801 Iuf Hrugmre! arg uafg fAasr. s die gud ...

AT 3NY ARG,
B.dId g3 ANId
C.da 49 diedd
D. I 3iaT ARG,

Answer: D.dr 3ffaT AN,

Reference 1D:(25769) Q0D AERIFIITE Hafd A8 TR I6id SHIARTI BV 3Tg?

AT
B.He5HIe
C. AR



Answer: C.(_'iIUIR

Reference ID:(27613) Identify the figure of speech in the following sentence: It feels like my birthday will
never come.

A.Metaphor
B.Simile
C.Hyperbole

D.Oxymoron

Answer: C.Hyperbole

Reference 1D:(32662) "HYD" § WD Aebgd HRATHAT HIUTT T 3HTg?

A BRaron

B.UqIS

C.JW U

D .XISI¥YTH

Answer: C.IWR U

Reference ID:(31422) IR IV WA BT WaBTRf &fdd 3e?

A SSiHeA
B.fhdhe
C.cqd ey



D.pedld

Answer: B.W

Reference 1D:(29391) Pick the right meaning of the highlighted word in the sentence:
The courts developed the doctrine of breach of contract.

A.Being unlawful about something
B.Abiding to a principal
C.Feeling faint about something

D.Avoiding something

Answer: B.Abiding to a principal
Reference 1D:(19981) 3fafera a1 e UMY Weg e,
A 3
B.UT
C.3 I
D.uRfaa
Answer: C.3{dd
Reference 1D:(30607) Pick the correct meaning of the highlighted idiom: The Parliament opposed the bill

tooth and nail .



A.With a lot of vengeance
B.Very strongly
C.In an angry way

D.To push for something to happen

Answer: B.Very strongly
Reference 1D:(29645) Pick the Synonym for the word:
Stupendou

A.Tremendous
B.Boring
C.Jaded

D.Dull

Answer: A.Tremendous

Reference 1D:(31425) HERIFT UMRId UR0T BIICTUD! DU forelTd 3g?

A0l

B.3{RT&TG
C.IIdRI
D.ds
Answer: A.gﬁf
Reference 1D:(28602) Find the meaning of the highlighted word in the sentence: She's a glutton for work.

She stays late every evening.



A.Slow worker
B.Avoiding

C.Eager for more

D.Assertive
Answer: C.Eager for more
Reference 1D:(27032) Find the meaning of the highlighted word in the sentence: His face was freshly

shaved, his clothes neat and trim.

A.Small
B.Smart
C.Short

D.Cut

Answer: B.Smart

Reference 1D:(20486) WRD+0+G=26,L+I1+K+E=37, dU+N+I1+V+E+R+S+A+L=__ 7

A.123
B.121
C.122

D.124

Answer: B.121

Reference 1D:(23656) Wit UM el e i siia! e



ASRIT - ReR
B.&fd - Hefias!

C.dfxd - gaeg

D Ifd - Tsfad

Answer: C.dfxd - gaeg

Reference 1D:(24699) PENEIEE R R RN ARG

O, 3 g el T

A.fadeg

B.Igulgddh gl
C.3dg

D. gt

Answer: B.9GHigdh gLl

Reference 1D:(32661) faeeiate dRYH HRATHT HIvT Gaue i1 FHUd dadd $RS 38?2

AXTSitg et
B. iR mieht
C.<ITel §gTgR Xl

SCIRGINERS

Answer: A TSI Tieqt

Reference ID:(31419)  .ooooeee.... AT o= HgeT it siegef gid.



Ad TH. 39

B.STATERdd "ge

C.dl. 3. fidgdH
D.gf=rarg Rer

Answer: C.d. 3R, eSHT

Reference 1D:(24164) FTeiteTdeh! BT €81 G Xea-aa- Sl Xeg s,

ASHY
B.3FE
C. P
D. 3y

Answer: A3P¥

Reference 1D:(18738) de1 Rmrer . & arere 3quf gdHH®Te TUTdR HRaMT Wiaiadd! HIurdr gafg
fasmar ana.

A T RyHTe T,

B.de1 R ST B,
C T RHTeT SfTd 3fTg.
D.de1 RyeHTa el g,

Answer: C.de1 RAH1ar S 31Ts.

Reference 1D:(30353) Find the meaning of the highlighted word in the sentence: She threw her hands up
in mock horror.



A.Happy
B.Genuine
C.Fake

D.Easy

Answer: C.Fake

Reference 1D:(24926) PENEIEE R R RN ARG

ST UTaR hRAAT TG

INCEICE

B.d&UC

C.digd
D.aSeid

Answer: B.d&Uc

Reference 1D:(33700) GTefieTten! BT "HRAT ATsfeia” Bed Sa?

ARS8
B.IRIfSH! Arrg
c3l. T agie
D. e fRrar

Answer: B. IRIfSrT g

Reference 1D:(25763) ST % HRAT Jelaud! bIordl ITHId/HIRIIT RIdaR &1 gIdl?



A.HIdIed AT I
B.9gidvd geft IHaRug

C.FR g=oitg 3naRug

D . SBIIR AT I

Answer: A HgdIed ?T@Z[ 3

Reference ID:(17141) 3.35+255+4.75-(5.25-8.75+2.25) =
A.11.90
B.11.65
C.11.55

D.12.15

Answer: A.11.90

Reference |1D:(27867) Pick the correct meaning of the highlighted idiom or phrase from the following:
After the first year’s profit, he got carried away and
started burning the candle at both ends and got into a debt trap

A.To spend without thinking
B.To tire yourself out

C.To suffer a loss



D.To be careless about ways of working

Answer: A.To spend without thinking

Reference 1D:(32664) HERTY HOI" shieT W RIESEIRGREIR

Answer: B.W

Reference 1D:(32660) ReAYcag E]'I%[H@F:lﬁ 38,

A GTH! [adeTHg

B IHPH W IRHGY

C .S | Aig= I
D.IATGTY TR

Answer: AT} ﬁw

Reference 1D:(25407) gafiT 1 WeqTT Wietads! g Teft faurg 3.
ATd + 3T

B.d + T



CHd + T

D.‘v'l_qc: + 31T

Answer: A TG + 3T

Reference 1D:(20967) HTfaddid RBH ST HRE: J, F, M, AL M, J,J, 'S

AM
B.J
C.S

D.A

Answer: D.A

Reference 1D:(30861) Identify the figure of speech in the following sentence: Her smile felt like warm
sunshine.

A.Apostrophe
B.Hyperbole
C.Simile

D.Metaphor

Answer: C.Simile

Reference 1D:(18965) WA el THN / THN UHR sl



B. 7 §gdille
C.HHURY
D.g&
Answer: C.HHURY
Reference 1D:(30380) Find the meaning of the highlighted word in the sentence: He was a lawyer, yet he

tried to outwit the law.

A.Protect
B.Assist
C.Deceive

D.Support

Answer: C.Deceive

Reference 1D:(25768) TfaROMRTT e fd JIeeioh! HIVNT RIS TR Siafdfaedl glcwicd aiid Hd?

A.TCE AR D B8 (WWF)

B.3{I. g. . TH. (IUCN)

C. BRI IS (C)

D. g MY TaRUT BTRishH (UNEP)

Answer: C. BRI IS (C)

Reference ID:(25764) JeEta’id aTdraRud Hle- SHSHaIg S YHTUT WTeliade! bl Tad 3Mg?



A.0.32

B.0.23

C.0.04

D.0.02

Answer: C.0.04

Reference ID:(31420) Helg mifeh ST (@fremaeh) § $g WHRGR =07 Sidqifd RIford sxuara
3T 3G

A AT Sif¥eR HffaH, 2006
B.ATfed=T Mf&eR 3ffafad, 2005
C.Hifgdian sf¥eR sifafaaH, 2002

D.$HEIT ARG 3MART HIUST, 2008

Answer: B.Hifgdn YR fUHTH, 2005

Reference 1D:(30126) Find the meaning of the highlighted word in the sentence: The company president
was indicted for taking bribes.

A.Excused
B.Acquitted

C.Pardoned



D.Charged

Answer: D.Charged
Reference 1D:(20740) OiR IS =4595 NI CE =70451525, RKNOW=___ ?
A.55775115

B.557075115
C.11141523

D.2565

Answer: B.557075115

Reference 1D:(34904) SR 17 x2=38,16x7 =46 3MT19x 6 =50, W8 x 21 =7

A.50
B.58
C.39

D.56

Answer: B.58

o N

Reference 1D:(19473) TYTd feciedT TR I 9T 3Rce aTad GaiaiaY ST, REKEY

ATTdS TReiol Xd dosd ficlid wrg Siepe.

B. YT AaR{ =g Bihd MfH S SIquT Sart.

C HITH WIg SIehd HrSiH aroft ferat

D.ReTurTe SeRard et U= HfcraeafedR <rg Stebett




Answer: D.RToMd I T ufgdam UfaaeaiadR g Sldhell



